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Clone SudokuClone Sudoku
Place a digit from 1 to 9 into each of the empty squares so that each digit appearsPlace a digit from 1 to 9 into each of the empty squares so that each digit appears
exactly once in each of the rows, columns and the nine outlined 3x3 regions.exactly once in each of the rows, columns and the nine outlined 3x3 regions.

Grey cells in the grid represent many cloned areas. Digits in these areas onGrey cells in the grid represent many cloned areas. Digits in these areas on
corresponding positions must be identical. Cloned areas are only moved, withoutcorresponding positions must be identical. Cloned areas are only moved, without
rotation or reflection.rotation or reflection. (Solution)(Solution)
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